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)
Nome:)) ) __________________________________________)
)
No.)USP:))) __________________________________________)
)

)
)

1))Um)núcleo)radioativo,)inicialmente)em)repouso,)decai)emitindo)um)elétron)e)
um)neutrino)em)direções)perpendiculares)entre)si.)A)quantidade)de)movimento)
do)elétron)é)1,2)x)10K22)kg)m/s)e)a)do)neutrino)é)6,4)x)10K23)kg)m/s.)Encontre)a)
direção) (faça) um) esquema)) e) a) intensidade) da) quantidade) de) movimento) do)
núcleo)após)o)decaimento.)
)
)
)
2))Obtenha)o)vetor)centro)de)massa)da)distribuição)de)partículas)abaixo.)
)

)
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